
From Mathcad Prime 3.1
≔Ia 0

≔Ib −10

≔Ic 10

≔α =⋅1j 120 +−0.5 0.866i

≔Seq (( ,,Ia Ib Ic)) ⋅―
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=Seq (( ,,Ia Ib Ic))
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≔Pos_seq =Seq (( ,,Ia Ib Ic))
,1 0

5.774i

Formatted as Decimal

Missing -ve sign  What is wrong 
here??

≔Neg_seq =Seq (( ,,Ia Ib Ic))
,2 0

5.774i

≔Zero_seq =Seq (( ,,Ia Ib Ic))
,0 0

0

≔POSTest1 Pos_seq =arg ⎛⎝POSTest1
⎞⎠ −90

This is correct - 180 degrees 
apart.≔NEGTest1 Neg_seq =arg ⎛⎝NEGTest1

⎞⎠ 90

Formatted as General

=Seq (( ,,Ia Ib Ic))

0

−− ⋅1.998 10−15 5.774i

+⋅1.998 10−15 5.774i
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≔Zero_seq =Seq (( ,,Ia Ib Ic))
,0 0

0

≔Pos_seq =Seq (( ,,Ia Ib Ic))
,1 0

−⋅−1.998 10−15 5.774i

≔Neg_seq =Seq (( ,,Ia Ib Ic))
,2 0

+⋅1.998 10−15 5.774i

≔POSTest2 Pos_seq =arg ⎛⎝POSTest2
⎞⎠ −90

≔NEGTest2 Neg_seq =arg ⎛⎝NEGTest2
⎞⎠ 90




